


for help and responding/ commenting

05 Talking about experiences. Inquiring and giving
information about times and prices.
06 Exchanging personal information. Getting attention.

Talking about countries, cities, travel abroad and
entertainment.

07 Talking about frequency of activities. Confirming and
giving advice. Saying good-bye.

08 Talking about past schedule. Talking about
holidays/events plans. Ending and following up a
conversation.

09 Describing locations of places. Talking about new year's
custom and entertainments. Talking about similarities.

10 Talking about numbers: time, schedule, and prices.
Responding to happy and sad news.

11 Asking to do things formally / informally. Giving
information about home stay manners in a foreign
country.

12 Inquiring and giving information about drugs/medicines.
Confirming a statement.

13 Talking about future plans. Informing and practicing
expressions commonly used in home stay and study

abroad.
14 Reviewing the activities / Preparing for a final oral test.
15 Conducting final oral test in small groups.

No textbook is required for students to purchase. Handouts will be
provided employing current reference books, and information given
on the Internet. However, students are advised to bring bilingual
dictionaries.

n — n
Students are strongly advised to listen to English programs on the
radio, TV and Internet youtube regularly. This is especially
important to get a quick progress in listening and getting interest
in spoken English. Furthermore, (i) watching English movies
without any bilingual aid, and (ii) being in regular touch to English
will certainly give a remarkable progress.
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Various issues regarding comparative education and US-related
issues in pedagogy will be introduced for deeper analysis in order
to introduce the teaching student to issues of a more globalized
world.
8 s Ussg

o U 8g n o U

Offering students a broader look at issues of education affecting the
world outside of Japan is important for the education student.
Also, students should be able to discuss topics in English based on
readings. Interview methods introduced include fieldwork and
case studies. Final presentation and report in English.

.
Reading, writing, and discussion of multicultural topics in US
education are required. Final report and presentation in ENGLISH.

S — 8
01 Introduction
02 Cultural identity
03 Impacting societal issues - US
04 Children and the surrounding educational environment

E US issues

05 Education and US educational policy issues

06 Other institutional affects on education

07 Diverse cultures

08 Social policy among societies

09 Values and education

10 Pedagogical issues in comparative education

11 Varieties of comparative education research

12 Research methodology in comparative education

13 Focus on children in a 21st century US educational milieu
14 Review of influences of US issues in childreni s education
15 Presentation and Report

This course is conducted in English. We will be looking at various
research topics in English throughout the semester in order to
build up the student's English research base in comparative
education and prepare him/her for the teaching field.

n - n
Students are expected to read, discuss, present, and report in
English.
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This course looks at the history of the development of English
— curriculum for children with particular emphasis on cross-cultural
— |Ir- J|| N -8 < < | ™ 1l i =| - oo comparisons and developmental studies regarding learning
ovdade s - [ =Y%1 %4 —o™ a 4 ™ readiness. Applications for’Japan are suggested.
<ot s LNe o < L 1o - < 8 s Uts o U
- Joeor#zoos 6 ™dk* grdo
i d 8 2N 1{vE- L L 5= - ) N )
J A-|| L <2 NQ.“ 9 % | 8 _ 4 n 8 e fia Stu_dents in educatlon_ programs should be famlllfar with the
07 L - on % |L Y] a L 4 L9 k= various models_ of Engl_ls_h and s_econd language learning. Second
54y MO language English proficiency will soon be necessary for Japanese
teachers. So this class prepares students for a future with English.
N _” . Final presentations and report in English.
8 — Y a L A{F s wo n - A _
. 30 n ~ Weekly re_afﬂngs in E_nglish. Also, interviews, investigations,
# 40 o n L4 wo N research visits are required.
8 d L gk g0 i 8 30 e — 8
# - Loee 01 introduction
02 Specialized Academic English Terms for Course
oS = 8 03 History of the Development of English language teaching
01 o= fi ® n ® fv-@® n 04 Case studies review
° = ° 05 Developmental Studies of Readiness in 1st language
02 | n ¢ 4 NI - < 2y~ 06 Continued E Developmental Studies
) — 1 07 Diverse cultures and language acquisition
03 | n 8 4 Nl n - & %= 08 Social policy and intercultural consciousness
™ < L 09  Alternative English schools in JapanE case study
04 - < L 4V Wl 4 4 0 — homework
g ldo0™ 10 Curriculum review E project/spectrum, etc.
05 nv-es & = TM“ — ¥l - Ve® - 11 Curriculum review E Progressive models in action
™o % 12 Research methodology for the language classroom
06 & %= 9 =Nef — o1 hOofisedn 13 Focus on children in a new educational milieu
- - ™ 14 Final presentation review
07 a -— |3/8 Foed g | F2 ™ —%e 15  conclusion  Presentation and Report
— < |
08 a — % Fewed 3 1 o™ NeL bdg<—
™< +1 This course is conducted in English. We will be looking at various
09 a = % Foed 5 1 o™ < q- research topics in English throughout the semester in order to
t 4 ( build up the student's English base. Examination of alternative
10 a2 — % Fwed g —1 e i 8% No schools in English is required.
Lg— & 4=
11 Nen <5 ¢ £< | 0—% 1 A4 |4 o ™%0 4 n - n
Ly &L Students are expected to read, discuss, present, and report in
12 non L+ < — Y18 g English.
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This course focuses on multicultural issues in comparative
education as a required intellectual discipline for teacher education

in a globalized society. Readings will be suggested by the
professor that hope to broaden the perspective of the educational
experience.

8 o Uss s U

This course is an extension of the first Comparative Education
course and exercises intensive reading and research skKills.
Methods and pedagogy will focus on Japanese and non-Japanese
educational models. An introduction to alternative forms of
education is essential to a teaching program in the globalized age.

- o -
Becoming an international person is essential for teachers.
Readings, written assignments, and presentations in English.

o< — 8

01 introduction

02 Japanese Education ' uniquenessA

03 Focus on US issues in education

04 Policy issues in early education

05 Social realities and education

06 Place for culture/ethnography in education
07 International models

08 International Parental models -

09 Community participation issues

10 Definitions of Preschool E re-definition?
11 Social issues and preschool changes

12 Educational models in perspective

13 balancing freedom versus constraint

14 Individual and society

15 3 < L Final presentations and papers

English required for this course for reading, discussion and writing.
Interviews to be performed in English.

n — n
Four-skill level English highly recommended.
skills essential.

Critical thinking
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This course is a seminar for 4th year students in preparation for
their graduate thesis.
8 o Usy 9 3 8g s U

This course is an extension of studies in Comparative Education
course and exercises intensive reading and research skills.
Students are expected to design their own final report with this as
a base.

S
Readings, written work and presentations in English.
o< — 8
01 Introduction
02 EReview Japanese Education ' uniquenessA
03 Review of 3rd year topics
04 Review of Policy issues in early education- case studies
05 Topic selection

06 Writing methods
07 Writing methods and critique

08 Individualized guidance
09 Individualized guidance
10 Practice presentation

11 Writing review

12 Writing review

13 Writing review

14 Presentations

15 3 <k Final review

Research methods used for higher level investigations introduced.
English required for this course.

n - n
High level English highly recommended. Indpendent study habits
required.
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This course is a seminar for 4th year students in preparation for
their graduation thesis.
8 9 U’88 9 l]

This course is an extension of studies in Comparative Education
course and exercises intensive reading and research skills.
Students are expected to design their own final report with this as
a base.

- A -
Readings, written work and presentations in English.
o< — :
01 introduction
02 EReview graduation thesis reviews
03 Review of other student topics
04 Policy issues reviewed

05 Topic analysis
06 Writing analysis
07 Writing methods and critique

08 Individualized guidance
09 Individualized guidance
10 Practice presentation

11 Writing review

12 Writing review

13 Writing review

14 Presentations

15 3 <k Final review

Weekly readings in English and on-site interviews and research
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methods are explored. English required for this course.

n — n
High level English highly recommended.
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